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Passage 1

Unless we spend money to spot and prevent asteroids (/NfTAE) now,
one might crash into Earth and destroy life as we know it, say some scien-
tists.

Asteroids are bigger versions of the meteoroids ( i/ ) that race across
the night sky. Most orbit the sun far from Earth and don’t threaten us. But
there are also thousands whose orbits put them on a collision course with
Earth.

Buy $ 50 million worth of new telescopes right now. Then spend $ 10
million a year for the next 25 years to locate most of the space rocks. By the
time we spot a fatal one, the scientists say, we’ll have a way to change its
course.

Some scientists favor pushing asteroids off course with nuclear weapons.
But the cost wouldn’t be cheap. |

Is it worth it? Two things experts consider when judging any risk are:
1) How likely the event is; and 2) How bad the consequences if the event
occurs. Experts think an asteroid big enough to destroy lots of life might
strike Earth once every 500, 000 years. Sounds pretty rare—but if one did
fall, it would be the end of the world. “If we don’t take care of these big as-
teroids, they’ll take care of us,” says one scientist. “It’s that simple. ”

The cure, though, might be worse than the disease. Do we really want
fleets of nuclear weapons sitting around on Earth? “The world has less to fear
from doomsday (& KH:#)) rocks than from a great nuclear fleet set against
them,” said a New York Times article.

1. What does the passage say about asteroids and meteoroids?
[ A] They are heavenly bodies different in composition.

[ B] They are heavenly bodies similar in nature.
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[ C] There are more asteroids than meteoroids.

[ D] Asteroids are more mysterious than meteoroids.

2. What do scientists say about the collision of an asteroid with Earth?
[ A] It is very unlikely but the danger exists.
[ B] Such a collision might occur once every 25 years.
[ C] Collisions of smaller asteroids with Earth occur more often than ex-
pected.

[D] It’s still too early to say whether such a collision might occur.

3. What do people think of the suggestion of using nuclear weapons to alter
the course of asteroids?
[ A] It sounds practical but it may not solve the problem.
[ B] It may create more problems than it might solve.
[C] Tt is a waste of money because a collision of asteroids with Earth is
very unlikely.
[ D] Further research should be done before it is proved applicable.

4. We can conclude from the passage that

[A] while pushing asteroids off course nuclear weapons would destroy
the world

[ B] asteroids racing across the night sky are likely to hit Earth in the
near future ‘

[ C] the worry about asteroids can be left to future generations since it is
unlikely to happen in our lifetime

[ D] workable solutions still have to be found to prevent a collision of as-

teroids with Earth
5. Which of the following best describes the author’s tone in this passage?

[ A] Optimistic. [ B] Critical.
[ C] Objective. (D] Arbitrary.
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Passage 2

In the 1960s, medical researchers Thomas Holmes and Richard Rahe
developed a checklist of stressful events. They appreciated the tricky point
that any major change can be stressful. Negative events like “serious illness
of a family member” were high on the list, but so were some positive life-
changing events, like marriage. When you take the Holmes-Rahe test you
must remember that the score does not reflect how you deal with stress—it
only shows how much you have to deal with. And we now know that the way
you handle these events dramatically affects your chances of staying healthy.

By the early 1970s, hundreds of similar studies had followed Holmes
and Rahe. And millions of Americans who work and live under stress worried
over the reports. Somehow, the research got boiled down to a memorable
message. Women’s magazines ran headlines like “Stress causes illness!” If
you want to stay physically and mentally healthy, the articles said, avoid
stressful events.

But such simplistic advice is impossible to follow. Even if stressful e-
vents are dangerous, many—Tlike the death of a loved one—are impossible to
avoid. Moreover, any warning to avoid all stressful events is a prescription

(4k75) for staying away from opportunities as well as trouble. Since any
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change can be stressful, a person who wanted to be completely free of stress
would never marry, have a child, take a new job or move.

The notion that all stress makes you sick also ignores a lot of what we
know about people. It assumes we’re all vulnerable (}fi55#)) and passive in
the face of adversity (3i3%). But what about human initiative and creativi-
ty? Many come through periods of stress with more physical and mental vigor
than they had before. We also know that a long time without change or chal-

lenge can lead to boredom, and physical and mental strain.

1. The result of Holmes-Rahe’s medical research tells us
[ A] the way you handle major events may cause stress
[ B] what should be done to avoid stress
[ C] what kind of event would cause stress

[D] how to cope with sudden changes in life

2. The studies on stress in the early 1970°s led to .
[ A] widespread concern over its harmful effects
[ B] great panic over the mental disorder it could cause
[ C] an intensive research into stress-related illnesses

[ D] popular avoidance of stressful jobs

3. The score of the Holmes-Rahe test shows
[A] how much pressure you are under
[ B] how positive events can change your life
[ C] how stressful a major event can be

[ D] how you can deal with life-changing events

4. Why is “such simplistic advice” (Line 1, Para. 3) impossible to fol-
low?
[ A] No one can stay on the same job for long.
[ B] No prescription is effective in relieving stress.

[ C] People have to get married someday.
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[D] You could be missing opportunities as well.

5. According to the passage people who have experienced ups and downs
may become
[ A] nervous when faced with difficulties
[ B] physically and mentally strained
[C] more capable of coping with adversity
[ D] indifferent toward what happens to them
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Passage 3

After the violent earthquake that shook Los Angeles in 1994, earth-
quake scientists had good news to report; The damage and death toll (FET=
AX) could have been much worse.

More than 60 people died in this earthquake. By comparison, an earth-
quake of similar intensity that shook America in 1988 claimed 25, 000 vic-
tims ;

Injuries and deaths were relatively less in Los Angeles because the
quake occurred at 4 : 31 a. m. on a holiday, when traffic was light on the
city’s highways. In addition, changes made to the construction codes in Los
Angeles during the last 20 years have strengthened the city’s buildings and
highways, making them more resistant to quakes.

Despite the good news, civil engineers aren’t resting on their successes.
Pinned to their drawing boards are blueprints ( #5 & f¢]) for improved quake-
resistant buildings. The new designs should offer even greater security to cit-
ies where earthquakes often take place.

In the past, making structures quake-resistant meant firm yet flexible
materials, such as steel and wood, that bend without breaking. Later, peo-

ple tried to lift a building off its foundation, and insert rubber and steel be-
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tween the building and its foundation to reduce the impact of ground vibra-
tions. The most recent designs give buildings brains as well as concrete and
steel supports, called smart buildings, the structures respond like living or-
ganisms to an earthquake’s vibrations. When the ground shakes and the
building tips forward, the computer would force the building to shift in the
opposite direction.

The new smart structures could be very expensive to build. However,
they would save many lives and would be less likely to be damaged during

earthquakes.

1. One reason why the loss of lives in the Los Angeles earthquake was com-
paratively low is that
[ A] new computers had been installed in the buildings
[B] it occurred in the residential areas rather than on the highways
[C] large numbers of Los Angeles residents had gone for a holiday
[D] improvements had been made in the construction of buildings and

highways

2. The function of the computer mentioned in the passage is to
[A] counterbalance an earthquake’s action on the building
[ B] predict the coming of an earthquake with accuracy
[ C] help strengthen the foundation of the building

[ D] measure the impact of an earthquake’s vibrations

3. The smart buildings discussed in the passage
[ A] would cause serious financial problems
[ B] would be worthwhile though costly
[ C] would increase the complexity of architectural design

[D] can reduce the ground vibrations caused by earthquakes

4. Tt can be inferred from the passage that in minimizing the damage caused

by earthquakes attention should be focused on
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[ A] the increasing use of rubber and steel in capital construction
[ B] the development of flexible building materials

[ C] the reduction of the impact of ground vibrations
[D]

early forecasts of earthquakes

5. The author’s main purpose in writing the passage isto .
[ A] compare the consequences of the earthquakes that occurred in the
u. S.
[ B] encourage civil engineers to make more extensive use of computers
[C] outline the history of the development of quake-resistant building
materials

[ D] report new developments in constructing quake-resistant building
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Passage 4

Even plants can run a fever, especially when they’re under attack by in-
sects or disease. But unlike humans, plants can have their temperature
taken from 3,000 feet away—straight up. A decade ago, adapting the infra-
red (£I4p2R) scanning technology developed for military purposes and other
satellites , physicist Stephen Paley came up with a quick way to take the tem-
perature of crops to determine which ones are under stress. The goal was to
let farmers precisely target pesticide ( 3% Hi %) spraying rather than rain
poison on a whole field, which invariably includes plants that don’t have pest
(% H) problems.

Even better, Paley’s Remote Scanning Services Company could detect
crop problems before they became visible to the eye. Mounted on a plane
flown at 3,000 feet at night , an infrared scanner measured the heat emitted
by crops. The data were transformed into a color-coded map showing where
plants were running “fevers”. Farmers could then spot- spray, using 50 to
70 percent less pesticide than they otherwise would.

The bad news is that Paley’s company closed down in 1984, after only
three years. Farmers resisted the new technology and long-term backers were

hard to find. But with the renewed concern about pesticides on produce, and

072



refinements in infrared scanning, Paley hopes to get back into operation.
Agriculture experts have no doubt the technology works. “This technique
can be used on 75 percent of agricultural land in the United States, ” says
George Oerther of Texas A&M. Ray Jackson, who recently retired from the
Department of Agriculture, thinks remote infrared crop scanning could be a-
dopted by the end of the decade. But only if Paley finds the financial back-
ing which he failed to obtain 10 years ago.

1. Plants will emit an increased amount of heat when they are
[ A] sprayed with pesticides [ B] facing an infrared scanner

[C] in poor physical condition [ D] exposed to excessive sun rays

2. In order to apply pesticide spraying precisely, we can use infrared scan-
ning to
[ A] estimate the damage to the crops
[B] draw a color-coded map
[ C] measure the size of the affected area

[ D] locate the problem area

3. Farmers can save a considerable amount of pesticide by
[ A] resorting to spot-spraying
[ B] consulting infrared scanning experts
[ C] transforming poisoned rain

[ D] detecting crop problems at an early stage

4. The application of infrared scanning technology to agriculture met with
some difficulties
[ A] the lack of official support
[ B] its high cost
[ C] the lack of financial

[ D] its failure to help increase production
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